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QUESTION 1

Based on the show display below, what should be done to further trouble the LSP problem? Choose all valid actions. 

A. Check all the interface filters to make sure no LDP protocol is blocked 

B. Check all management filters to make sure no RSVP-TE protocol is blocked 

C. Verify all explicit hops are reachable via IGP 

D. Make sure MPLS is enabled on all appropriate interfaces 

E. Make sure LDP is enabled on all appropriate interfaces 

Correct Answer: BCD 
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QUESTION 2

Which command can be used to view all interfaces configured under VPRN 300? 

A. Show router interfaces 

B. Show router interface vprn 300 

C. Show router 300 interfaces 

D. Show service vprn 300 interfaces 

E. Show service id 300 interfaces 

Correct Answer: C 

 

QUESTION 3

Based on the following configuration, which of the following statements are true? Choose all that apply. 
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A. No OPSF adjacency found on Node 1 

B. Full OSPF adjacency between Node-1 and Node-2 

C. Full OSPF adjacency between Node-1 and Node-3 

D. Full OSPF adjacency between Node-1 and Node-4 

E. OSPF is enabled on Node 1 

Correct Answer: BE 
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QUESTION 4

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down? 

A. Local SDP id does not match with the remote sdp id. 

B. Far End IP address is not reachable. 

C. Keepalive has to be enable on the SDP. 

D. LDP is not enable on the remote node\\'s interface. 

E. Targeted LDP session is disabled on the remote node. 

Correct Answer: A 

 

QUESTION 5

A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is
found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
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modified to bring the SDP up on both Nodes? 

A. IP MTU of the IES Interface on Node3 

B. Port MTU on Node 3 and Node 4 

C. SDP Path MTU on Node 3 and Node 4 

D. Service MTU on Node 4 

E. Path MTU on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 6

If a router needs to support services offering of 1514 byte service payload over POS with MPLS FRR, what is the
physical MTU size required on the network ports? 

A. 1524 

B. 1536 

C. 1540 

D. 1514 

E. 1528 

Correct Answer: E 

 

QUESTION 7

VPRN 300 is configured on Node 4. BGP is being used as the PE-CE routing protocol. Node 2 is the CE router. The
BGP session is not established between Node 4 and Node 2. What is missing in the configuration? 
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A. Type external has to be configured on Node 2 under group vrf 

B. Autonomous-system has to be configured on Node 4 under vprn 300 

C. Router-id has to be configured on Node 4 under vprn 300 

D. Router-id has to be added under BGP on Node 2 

E. EBGP will not work under VPRN 

Correct Answer: B 

 

QUESTION 8

Based on the configuration below, which statement best describes the reason why VPLS 101 is not up on all three
nodes. 
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A. Service VC id has to match on all three nodes 

B. SDP id has to match on all three nodes 

C. STP has to be enabled on all three nodes 

D. No SAP is configured on Node-2 

E. Mesh-sdp has to be used on all three nodes 

Correct Answer: A 

 

 

QUESTION 9

Two direct connected routers are running RIPv2, neighbors are up but there is no route in the RIP database. Review the
configuration information below. What is the potential problem? 
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A. System interface is not added to the RIP protocol 

B. No import policy is configured 

C. No export policy is configured 

D. Split-horizon has to be disabled in RIP 

E. Message-size has to be configured with a non-zero value 

Correct Answer: C 

 

 

QUESTION 10

Which command should be used to enable automatic synchronization for all software images and configuration on the
Alcatel 7x50? 

A. Admin redundancy synchronization boot-env 

B. Admin redundancy synchronization config 

C. Configure redundancy synchronize boot-env 

D. Configure redundancy synchronize config 

E. It is enabled by default 

Correct Answer: C 
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